
KIT INCLUDES:
(2) UNIVERSAL TOP BRACKETS
(4) UNIVERSAL LOWER BRACKETS
(12) 5/16"-12 THREAD FORMING SCREWS
(6) 1/4"-20 SCREWS

B

A

(SOLD SEPARATELY)
MM6E RACKING SYSTEM 

Q-SERIES VERTICAL
MANAGER (SOLD
SEPARATELY)

VERTICAL MANAGER
MM6E ATTACHMENT

BRACKET Q-SERIES
UNIVERSAL TOP 

THREAD FORMING
SCREWS, 5/16"-12
THREAD, 1/2" LONG

DETAIL B

1/4"-20 THREAD,
3/8" LENGTH SCREW
WITH EXTERNAL TOOTH
LOCK WASHER

UNIVERSAL LOWER 
BRACKET Q-SERIES
VERTICAL MANAGER 
MM6E ATTACHMENTDETAIL A

TITLE

***  NOTICE   ***
THIS DOCUMENT CONTAINS CONFIDENTIAL 

AND/OR PROPRIETARY INFORMATION INTENDED 
FOR USE ONLY BY THE INDIVIDUAL(S) PROVIDED.

NEITHER THIS DOCUMENT, NOR ANY 
INFORMATION CONTAINED HEREIN, MAY BE 

COPIED, DISTRIBUTED, DISCLOSED TO ANY THIRD 
PARTY OR USED IN ANY MANNER OTHER THAN 

FOR WHICH IT HAS BEEN PROVIDED, WITHOUT THE 
PRIOR WRITTEN CONSENT OF LEGRAND, INC.

MANUFACTURING RELEASE, PRODUCT 
SPECIFICATIONS AND STANDARDS ARE SUBJECT 

TO CHANGE WITHOUT NOTICE.

 

02MM6EQMK8CJPS 11/1/2016

 

 2/1/2017

 

Q-SERIES 8FT VERTICAL MANAGER MOUNTING KIT

APPR
CHK
DWN

DATENAME REV
A

CAD FILESIZE

SHEETSCALE 1:1 1 OF 1

OR-MM6EQMK8

CV

DWG  NO

WEIGHT

WWW.LEGRAND.US


